MILOGIKIT 1 &2

Ml LOGI KIT 1 & 2

Logitech™ Rally mounts

Soportes para Logitech* Rally

Installation manual F =)!
Manual de instalacion  ~
Manuale di installazione

Asennusopas
Manuel d'installation.

*Logitech is a registered brand by Logitech International S.A.




DIMASA MILOGIKIT 1 &2

CONTENIDO/CONTENTS/CONTENUTO/SISALLYS/CONTENU:
MI LOGI KIT 1: -

PAGE 4

DIN 912 M6x10 (x5)
DIN M6x40 (x4)
Washer M6 (x5)

DIN 912 M8x30 (x4)
DIN 912 M8x35 (x35)
DIN 912 M8x40 (x8)
DIN 912 M8x50 (x4)
DIN 912 M8x60 (x4)
DIN912 M10x40 (x4)
Nut M8 (x45)
Washer M8 (x45)

\
HERRAMIENTAS NECESARIAS/TOOLS NEEDED/ATTREZZI

NECESSARI/TARPEELLISET TYOKALUT/OUTILS NECESSAIRES:
© O

ALLEN M8 Spanner M8 ALLEN M6 ][ ][




DIMASA

MI LOGI KIT 2: PAGE 21

MILOGIKIT1 &2

/

N

DIN 912 M6x10 (x5)
DIN M6x40 (x4)
Washer M6 (x5)
DIN 912 M8x30 (x4)
DIN 912 M8x35 (x35)
DIN 912 M8x40 (x8)
DIN 912 M8x50 (x4)
DIN 912 M8x60 (x4)
DIN912 M10x40 (x4)
Nut M8 (x45)
Washer M8 (x45)

N

M10x60 (x8)




DIMASA

MI LOGI KIT 1: 9

D
©Oe

o
OXONO

M
ONONO!

O
oJoNo

MILOGIKIT 1 &2

W?

One top speaker
Rally camera bottom position
Bottom shelf

One bottom speaker
Rally camera top position
Bottom shelf (optional)

Two sides speakers
Rally camera bottom position
Bottom shelf

Rally camera top position

Two sides speakers
Bottom shelf(optional) [




DIMASA MILOGIKIT1 &2

®@  One top speaker
@ Rally camera bottom position
© Bottom shelf

ALLEN M6 DIN 912 M6x10 (x2)

Washer M6 (x2)

ALLEN M8 DIN 912 M8x35 (x2)
Nut M8 (x2)
Washer M8 (x2)

ALLEN M8 DIN 912 M8x40 (x3)
Nut M8 (x3)
Washer M8 (x3)




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x35 (x8)
Nut M8 (x8)
Washer M8 (x8)




DIMASA MILOGIKIT 1 &2

&

ALLEN M8 DIN 912 M8x30 (x4)
Nut M8 (x4)

Washer M8 (x4)




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x50 (x4)
Nut M8 (x4)
Washer M8 (x4)
f
ALLEN M6 DIN 912 M6x10 (x1)
Washer M6 (x1)




DIMASA MILOGIKIT 1 &2

©  One bottom speaker
© Rally camera top position
© Bottom shelf (optional)

DIN 912 M8x35 (x2)
Nut M8 (x2)
Washer M8 (x2)

ALLEN M8

ALLEN M6 DIN 912 M6x10 (x2)

Washer M6 (x2)

ALLEN M8 DIN 912 M8x35 (x2)
Nut M8 (x2)
Washer M8 (x2)

el DIN 912 M8x35 (x3)
Nut M8 (x3)
Washer M8 (x3)
DIN 912 M6x10 (x2)
Self-locking nut M6
(x2)

ALLEN M8




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x35 (x8)
Nut M8 (x8)
Washer M8 (x8)




DIMASA

MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x30 (x4)
Nut M8 (x4)

Washer M8 (x4)




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x50 (x4)
Nut M8 (x4)
Washer M8 (x4)

ALLEN M6 DIN 912 M6x10 (x1)
Washer M6 (x1)




DIMASA MILOGIKIT1 &2

®@ Two sides speakers
© Rally camera bottom position
© Bottom shelf

ALLEN M6 DIN 912 M6x10 (x2)
Washer M6 (x2)

ALLEN M8 DIN 912 M8x35 (x3)
Nut M8 (x3)
Washer M8 (x3)




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x35 (x16)
DIN 912 M8x40 (x4)
Nut M8 (x20)
Washer M8 (x20)




MILOGIKIT 1 &2

DIMASA

DIN 912 M8x40 (x4)  ALLEN M8
Nut M8 (x4)
Washer M8 (x4)




DIMASA MILOGIKIT 1 &2

© =

- =
OQQQ-Q-
[y "/

ALLEN M8 DIN 912 M8x50 (x4)
DIN 912 M8x35 (x8)
Nut M8 (x12)
Washer M8 (x12)

ALLEN M6 DIN 912 M6x10 (x1)
Washer M6 (x1)




MILOGIKIT1 &2

DIMASA

®© Two sides speakers [

@ Rally camera top position
® Bottom shelf (optional)

ALLEN M6 DIN 912 M6x10 (x2)
Washer M6 (x2)

DIN 912 M8x35 (x2)
Nut M8 (x2)
Washer M8 (x2)

ALLEN M8

ALLEN M8 DIN 912 M8x35 (x3)
Nut M8 (x3)
Washer M8 (x3)




DIMASA MILOGIKIT 1 &2

ALLEN M8 DIN 912 M8x35 (x20)
DIN 912 M8x40 (x4)
Nut M8 (x24)
Washer M8 (x24)




DIMASA MILOGIKIT 1 &2

DIN 912 M8x40 (x4)  ALLEN M8
Nut M8 (x4)
Washer M8 (x4)




MILOGIKIT 1 &2

DIMASA

ALLEN M8 DIN 912 M8x50 (x4)
DIN 912 M8x35 (x8)
Nut M8 (x12)
Washer M8 (x12

ALLEN M6 DIN 912 M6x10 (x1)
Washer M6 (x1)




DIMASA

MI LOGIT KIT 2:

MILOGIKIT 1 &2

189 mm

0]

® @ @)

e LOGI KIT 1 PAGE 4

DIMASA

BARCELONA:

Pasatje Santa Rosa n®8-10, 08105 Sant Fost de
Campcentelles (Barcelona) Tel: +34934620604 /
+34916169688

MADRID:

¢/ Parque Ferial n° 11, Pol. Ind. Urtinsa Il, 28923
Alcorcon (Madrid)

Tel.: +34 91616 96 88

21



